Exercices complémentaires séquence 56 pages 80 et 81

Complete :
115 + 115 + 115 + 115 =4 x 115

78+ 78+ 78+78+78+78=..... ) T
206 + 206 +206 + 206 + 206 = ........ ) QT
342 + 342 + 342 + 342 + 342 + 342 + 342 + 342 = ........ ) T
Pose et calcule ces multiplications en colonne :

258 x3=..... 345 X6 = ......... 537 x5 = .........
Comsete ...........................................................................................

115 + 115 + 115 + 115 =4 x 115

718+ 78+ 78+78+78+78=...... ) QI
206 + 206 +206 + 206 + 206 = ........ ) QR
342 + 342 + 342 + 342 + 342 + 342 + 342 + 342 = ........ ) QR

Pose et calcule ces multiplications en colonne :
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